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Wherefrom is there np7x i chirat's

OVERVIEW

Py 1 derives that a 1"'va acquires (ownership in) the 119wW» from the 1?109 of
7P7% 770 9. The 770 orders the m%n to return the 110wWn to the M7 when the
MY needs it (at night, etc.), and, in turn, this will be considered a 7% for the
m9n. This proves (according to prg> ') that the mon acquires the 1own; for if
he does not acquire it and it still belongs (entirely) to the m>, why is this
considered as a P78 for the M>» when he is returning to the MY the 1owWn
which belongs to the m7. Our NMo0IN questions and explains this logic.

nvoIn asks:
- 21’59 25WY 1D 9N NNN NPTY NN 9NN ON)

And if you will say; but there is 77?72 on account that he returns the 1nown»
so the MY can lie on it!

n90IN answers:
— 1593 YW 25 (15 o22a7) AN PIYTT MY YN

And one can say; that prix> " infers that the 1"va is 71p the 1Own, from
that which is written previously in the same P109, ‘and he will lie with his

garment and will bless you’; this proves that the n'"va is 71 the own -
— 209937 5729 1Y M7 23PN 19935 13 BN 199 NP NN XY IN)

For if the n"v2 is not 73'» the 1own, it will then turn out that when the
poor > blesses the 71157 it will be considered usury with words.*

%75 (x¥n) oma7.

* The ' received this 119wn to secure his debt. He is entitled to hold on to it, unless the M pays him. The
mM> did not pay him yet and still the M%7 is returning the nN3wn. Therefore even though the m%n may not own
it, but he certainly has a right to keep it; the fact that he is returning it should certainly be considered a np7x.
[One cannot argue that it is not considered a 7%, since the 7710 commands him to return it, for then even
if he is 7112 the oWy, it should not be considered a fp7¥, since the 77N commands him to do so.]

* The Xn™M2 in 2,7v "2 derives from the (3,30 [XX¥n] 2°127) 7109 which states WX 227 %5 "3 PAR? PwN XY
7w’ that even 0727 n°27 is MoX. The Xn»12 explains this to mean that if the M? was not accustomed to greet
the m%n, he is not permitted to greet him now, for this is 0127 n*21. He is greeting him to acknowledge and
thank him for the loan. Similarly here the 71572 of the 772 will be considered 0°127 n°27 if the M%» is not NP
the 11own. See following footnote # 4.

*If we assume that 71own 1P 1"'va it may be considered as if the loan was already paid with the 110wn (with
the qualification that the m> has a right to redeem it), therefore there is no more loan, and when the m>
blesses the 7197 it cannot be considered n°27, since there is no more loan. However if the 797 is not 71p the
1own (it is merely a security) then the loan is still in force and the 71372 of the m> will be considered n»a1
0*27. Alternately; if the m>n is 7P the 115wn, he is then granting the M an object that belongs to the M7,
and the M may thank him and it is not 0127 n*2" for he is thanking him for giving the Mm% an object which
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mooIn offers an alternate solution:’
$(3,n0 X2 X32) 1D ) TOUN PN 190 IDUN 1IN NINX NPTY 299919 NYT DIWH91) U

And others explain that it is not considered 7?72 unless one gives from
his own, as the X states’, ‘do P72 from what is yours and give it to

him’. Therefore if 710wn 1P 7"va it is considered p7¥ 7°70 793, however if he is not 711
the 1own, the 710 would not have written 73p7% 77°7n 79, since he is doing a favor with
something which does not belong to him.

SUMMARY

We derive that 110w»n 7332 11"'v2 from the fact that the 770 writes 70723; if the
n"va would not be 1P the Nown, the 7272 would be considered 0°727 n°an.
Alternately, 727X is only when it is from something that one owns.

THINKING IT OVER
1. Is o727 n°21 forbidden X877 or 1127702’

2. What is the difficulty with m»01n second answer (that it is placed second)?

belongs to the m7n. However if the 7121 is not 711p the 1own; it still belongs to the M, then the only reason
the Mm% blesses him is because of the loan; otherwise why would he bless him if he is returning to the 717
that which belongs to the m?, therefore this is considered 2127 n°27. See (also) 7"»X footnote # 147.

> The difficulty with the first answer is readily apparent. The X723 states that we derive 12wn 71p 1"va from
TpT¥ o0 72, and from Mo it appears that we derive it from 75721 In defense of the first answer it may
be that the X713 is saying if the 1"v2a is not 711 the 15wn, how does the 105 say that by returning the 112wn,
the m?% will bless and this will be considered a 71p7¥ for you; on the contrary if you return it and the m? will
bless you, then you are causing an 110°% of 0127 n*27! How can that be considered 7% 7°7n 971?! See also
1" footnote # 146.

® The xmx in "2 derived (initially) from the (1,72 [R2n] 2°7127) 7D of P7¥Y AnW jax that the seller is
required to give the buyer (slightly) more than the agreed upon weight. The word p7X is interpreted to mean
give from what is yours. Therefore whenever the 7710 uses the term (7)p7X it is referring to a case where
one gives something which belongs to him, and not merely doing a favor to someone (where it is not
coming from his pocket). The latter is referred to as 0>70m N7 but not 7p7X.

7 See n"nx footnote # 153 and onwards.
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